I-Addendum 84 Estrus cycle - individual findings following the time course at 6 months

continued
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I-Addendum 84 Estrus cycle - individual findings following the time course at 6 months

continued
BPA 40
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I-Addendum 84 Estrus cycle - individual findings following the time course at 6 months

Irregular
estrus cycle

continued

EE 0.05mg/kg/day

Animal No.

PE
Ireg.
CcD
CD
CcD
PD
CD
CD
CE
CD
CD
PE
PD

14

13

12

11

10

PD
CD
N
N
PD
CD
PD

4/22

1/22
5/22

(alja] JaaNalal [afjajalalalalalal

(ajajajajaialala] o000 =Z000
o0o0=Z20000 (aalalh" falalal
(aljalp— NaNaNalal [ajjalia] Jajalalal

(ajja] jaNalaNalNal [afajafajajialala]

(aiaiajalalalalal 02002000

(alalalalal-Nalal So=.=0=

D

(aajajajalalalal

(ajjalja] JaNalalal ooon=000

[of{c ol lole s OO0OOQOZSM=00
[alalal-Yalalalala [ajalia] j§a) Jala
S0O0@=0000 ooonoooon

[aiaNalal-Yalalal

(afja]l Ja Dl

718
719

754
758
759
760
761
765
766

Normal cycle

Irregular cycle

10/22
1/22

1/22




91/l 30
91/0 3d
91/0 ao
91/0 ad
al/c 9J0Ao JeinbBau
gIrct 3jofo |ewnoN
T T DN 0 o W MMM ° 7 BEMEEW 0 0 00 &
(imMeL) pesp 9¢s
- N | a a ) a a W a a W a a 2es
= N a W a a W a a N Les
s N a a W a ] a W a a 12§
- N N W a N a W a a a 92s
- N a W a N a W a a a 22s
- N a W a a W a N a 1zs
+ Efe) a a LS
- N [q] a W a a N a a [ a N 9ls
- N a N a a N a a N a W rA%]
+ "Bal| N a N a a N a a LLS
- N a ] a a N a a N a a N 0LS
= N a N a a W a N a a 10S
+ ‘Bay| W W a a N a a 90S
- N a [ a [ a N a a 20S
< N a W a a N a a a N a a L0S
3[R0 SN L €l (4} ) 0L 6 8 Z 9 S 14 [3 [4 2
Jenbau) ‘op [eunuy

[O13U0d JPIYSA

syjuow / je 2510032 awi) 2y} Buimojjoy sbuipuy jenpiaipul - 3[9A2 snis3 §-g WNpUIPpPY-|

-243-



6L/1

E o)

6L/L 3d

61/0 ao

6171 ad

6L/ 819/ seinbaly)

61/9 810/o |eulioN
+ ad a a a a a a a a a W a GLS
- N a W a W a a [ W 1741
§ N W a W a W s 08
= N a a N a a N a 695
+ ‘Bay| a W W ad d [ ad A a 95
+ 2 a ] a a a N a a N ad a 795
+ 3d a a €96

(Imgz) peap 298
+ 3d a a 19§
+ 3d a a LSS
+ 30 a a 96§
+ 3d a a ¥SS
+ 3d a a €SS
+ ‘Bay| a a (41
+ 3d a a a LSS
+ 3d a a VA4
+ ‘Bal| a a 14
- N a [ a [ a W S¥S
= N W a W a a W a a W LbS
- N a a W a a N - a a N I a a (4]
9|0A0 snijsa i el cL L oL 6 8 J) 9 S 14 [ [4 X
Jejnbau) -ON [ewiuy

Kep/by/Buis00°0 Vdg
panunpuod

syjuow £ je 3sinod awny 2y} Buimojjoy sbuipuy jenpiaipul - 3]942 snijs3 ¢-g WNPUSPPY-|

-244-



61/0 30
6L/C 3d
6L/0 ao
61/0 ad
61/ 3joko Jeinbaul
61/01 8joko |euwwioN
- N a W [ a a ] a a [ a 619
- ~Fel] a a a a 8L9
¥ Bal| W a a W a 145
+ 3d a a €19
+ ‘Bay| a a a N a a a N a 609
- Fai| m d a W a a 809
- "Bal| a a [ N a a N 709
+ ‘Baj| a )} a €09
= N a W a a N a 665
+ 3d a a 865
- N a N a a ] v6S
= N W a a N N €65
+ Bal a )] 06S
= N a a [ N 685
- N W l a a a a a 685
= N a N a a 85
- N N I a a W ] 185
= N a a W ] 08S
= N a N a 6.5
3]9A0 sniisa 145 €l (4% L (1]% 4
1enbau) : ‘ON ewiuy
Kep/by/Bwiso’0 vdg
psnupuod

syjuow / 1e 2sinod awiy ay) buimojjoy sBuipuy jenpialpul - 3]9A2 snis3 g-g WNpU3ppPY-|

-245-



v/

vere

/o

/0

/0l

v/l

30

ao
ad

aj0/o teinbauy)
s fo [ewopN

L29

+| +

$

R RN S Y Y

+

BRI
senbau

W
a

]

699
899
999
V99
€99
659
859
vs9
€59
6¥9
8v9
9
£v9
6€9
8¢9
L£9
9¢9
rAx:}
Le9
829
129
1£4)
€29

et o W
a W
ey W
| o

o
0000 ==S0=20=200

=022
(&)
ooonoo0onon0=Z00=00

NS S=S00000A0

‘ON [ewiuy

Kep/by/buioy vda
panunuos

syjuow 2 je asinod awiy ay) buimojjoy sBuipuy jenpinipui - 3j942 snijs3 §-g WNpUSPPY-|

-246-



L1/0 (9]
LVIL 3d
LU/ ao
A ad
s 9[040 teinbaly)
JAYS 3jpfo [euloN
& N VL.
+ 3d a eLL
+ ‘Bay| a 60Z
- N a 801
+ 3d a oL
= N a €0L
+ 3d a 669
- N a 869
+ ao a a 69
(imzz) pesp £69
+ 3d a a 689
+ 3d N 889
+ "Bal| [ [ N a a 89
+ 3d [ a a £89
= N a N a a N a N a a a 6.9
+ ad a a a a a a N a N a 8.9
+ 3d a a .9
+ ‘Bal| a a W a a a a N a a €9
S]0A0 Snuise 14" €l (4% L oL 6 8 L 9 S € [A I
Jejnbaly ‘o [ewiuy
Kep/by/buigoy vda
panunuod

syjuow / Je 9sinod awi) ay} buimojjoy sbuipuy jenpiaipul - 31942 snijs3 -8 WNPUSPPY-|

-247-



(4414 30

cc/8 3d

[44) as

azre ad

rd]) 91040 Jenbauy

e 3pfo [euioN
+ as a a a a a a a a a a a a a a 992
+ as a a a a a a a a a a a a a a S92
- N a ] a N a N a a 192
= N W a a W a W L a a 092
+ ad a W a a a ] a a a a a 6S.
+ ao a a a a a a a a a a W a a 85.
+ 3d a a 1473
+ 30 N €52
+ 3d N (374
+ 3d a a 8.
% 3d a a ad a a ad a a a a 1424
+ 30 ] ev.
+ ad a a a a a ] a W W a a 6eL
+ as a a a a a a a a a a 4] a a 8¢l
+ as a a a a a a a a a a a a a veL
+ an a a a a a a a a a a a a a a eel
+ as a a a a a a a a a a N a a 6c.
+ 3d a a 8z.
+ 3d a a veL
+ ‘Bay| a a €CL
+ 3d a 6LL
+ 3d a a 8L

S|9Ad snujsa 1 4] €l 4% 122 oL 6 8 L 9 S 14 € [4 2
Jeinbau) ‘ON Jewiuy
Kep/by/buigo 0 33
panupuod

syjuow / je 8sInod awi} 9y} Buimojjoy sbuipul fenpialpul - 3[9A2 snijs3 g-g WINpULPPY-|

-248-



I-Addendum 8-6 Estrus cycle summary - individual findings following the time course from 3 through 7 months
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